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#block 1 for proton abstracting histidine 
 
CST::BEGIN   
  TEMPLATE::   ATOM_MAP: 1 atom_name: C6 O4 O2 
  TEMPLATE::   ATOM_MAP: 1 residue3: D2N 
 
 
  TEMPLATE::   ATOM_MAP: 2 atom_type: Nhis, 
  TEMPLATE::   ATOM_MAP: 2 residue1: H  
  
 
  CONSTRAINT:: distanceAB:    2.00   0.30 100.00  1 
  CONSTRAINT::    angle_A:  105.10   6.00 100.00  360.00 
  CONSTRAINT::    angle_B:  116.90   5.00  50.00  360.00 
  CONSTRAINT::  torsion_A:  105.00  10.00  50.00  360.00 
  CONSTRAINT::  torsion_B:  180.00  10.00  25.00  180.00 
  CONSTRAINT:: torsion_AB:    0.00   0.00   0.00  180.00 
CST::END 
 
#block 2 for aromatic binding 
 
CST::BEGIN   
  TEMPLATE::   ATOM_MAP: 1 atom_name: X1 C10 C12 
  TEMPLATE::   ATOM_MAP: 1 residue3: D2N 
 
 
  TEMPLATE::   ATOM_MAP: 2 atom_type: aroC, 
  TEMPLATE::   ATOM_MAP: 2 residue1: WFY  
 
 
  CONSTRAINT:: distanceAB:    3.50   0.20  50.00  0 
  CONSTRAINT::    angle_A:   90.00   5.00  50.00  360.00   
  CONSTRAINT::    angle_B:   90.00   5.00  50.00  360.00 
  CONSTRAINT::  torsion_A:   90.00   5.00  50.00  180.00  
  CONSTRAINT::  torsion_B:  180.00  15.00   0.00  120.00  
  CONSTRAINT:: torsion_AB:    0.00   0.00   0.00  180.00 
CST::END 

 

Comments  are  seen  in  the  constraints  file  via  the # mark. This  format  is broken up  into  two blocks: 

catalytic histidine and aromatic binding. These blocks are defined by the CST::BEGIN and CST::END 

and everything that is contained within the notations that are indented. The residues that are being are 

followed by TEMPLATE designation. These are the two residues that will have the constraints applied to 

them.  Below  the  TEMPLATE  designation  is  the  CONSTRAINT  notation.  Everything  that  are  labeled 

CONSTRAINT are constraints that are placed upon your residues defined in TEMPLATE. Lets delve a little 

bit more into how to define residues in TEMPLATE. 

  



TEMPLATE SECTION 

#block 1 for proton abstracting histidine 
 
  TEMPLATE::   ATOM_MAP: 1 atom_name: C6 O4 O2 
  TEMPLATE::   ATOM_MAP: 1 residue3: D2N 
 
 
  TEMPLATE::   ATOM_MAP: 2 atom_type: Nhis, 
  TEMPLATE::   ATOM_MAP: 2 residue1: H  
 
‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐ 
 
#block 2  for aromatic binding 
 
  TEMPLATE::   ATOM_MAP: 1 atom_name: X1 C10 C12 
  TEMPLATE::   ATOM_MAP: 1 residue3: D2N 
 
 
  TEMPLATE::   ATOM_MAP: 2 atom_type: aroC, 
  TEMPLATE::   ATOM_MAP: 2 residue1: WFY  
 
The template tag defines the residue to constrain, either protein side or ligand, and what atoms used to 

constrain.  ATOM_MAP  refers  to  what  residue  you  are  talking  about.  The  number  is  either  1  or  2. 

Remember, you are constraining two residues. Residue one  is  identified by the ATOM_MAP: 1 tag and 

residue two is identified as ATOM_MAP: 2 flag. The type of residue to be constrained is identified by 

the residue3 or residue1 flag. The simplest case to use  is the residue1 flag. residue1  is followed by the 

one letter amino acid code. If you do not care if pi‐stacking interactions are made by either a W or F or Y 

you can place all three one  letter amino acid names there. For example  in block 2 residue 2, we don't 

care what pi‐stacking  interaction  is made so we use residue1: WFY notation. Note that  if you use this 

you will have to use the atom_type flag to identify the residues which is discussed below. The residue3 

notation will always be used to identify the ligand as the ligand will always have a three letter identifier 

to it. In block 1 residue 1 we use the residue3: D2N to denote the ligand.  

The type of atoms to be constrained can be identified by either the atom_name or atom_type flag. It is 

important to understand that both flags require 3 atoms to be identified. This is because we want to add 

angle  constraints,  which  require  three  atoms.  Specifically  in  block  1  for  residue1,  if  you  use  the 

atom_name  flag, the  first atom name C6, the second O4, and third O2. Alternatively, you can use the 

atom_type  flag which  allows  a more  flexible  definition  of  the  constrained  atoms.  ASK  KRISTIAN  TO 

EXPLAIN BASE ATOMS.  

The number in column 3 of these records indicates which catalytic residue the record relates to. It has to 

be either 1 or 2. The 'residue1' or 'residue3' tag specifies what type of residue is constrained. 'residue3' 

needs to be followed by the name of the residue in 3 letter abbreviation. 'residue1' needs to be followed 

by the name of the residue in 1 letter abbreviation. As a convenience, if several similar residue types can 

fulfill the constraint (i.e. ASP or GLU ), the 'residue1' tag can be followed by a string of 1‐letter codes of 

the allowed residues ( i.e. ED for ASP/GLU, or ST for SER/THR ).  



It allows more  flexible definition of  the constrained atoms.  It has  to be  followed by  the Rosetta atom 

type  of  the  first  constrained  atom  of  the  residue.  In  case  this  tag  is  used,  Rosetta will  set  the  2nd 

constrained atom as the base atom of the first constrained atom and the third constrained atom as the 

base atom of the 2nd constrained atom. ( Note: the base atoms for each atom are defined in the ICOOR 

records of the  .params file for that residue type ). There are two advantages to using the  'atom_type' 

tag:  first,  it  allows  constraining  different  residue  types with  the  same  file.  For  example  if  a  catalytic 

hydrogen bond is to be constrained, but the user doesn't care if it's mediated by a SER‐OH or a THR‐OH. 

Second,  if a catalytic residue contains more than one atom of the same type (as  in the case of ASP or 

GLU ), but  it doesn't matter which of these atoms mediates the constrained  interaction, using this tag 

will  cause Rosetta  to evaluate  the  constraint  for all of  these atoms  separately and pick  the one with 

lowest score, i.e. the ambiguity of the constraint will automatically be resolved.  

CONSTRAINT SECTION 

  CONSTRAINT:: distanceAB:    3.50   0.20  50.00  0 
  CONSTRAINT::    angle_A:   90.00   5.00  50.00  360.00   
  CONSTRAINT::    angle_B:   90.00   5.00  50.00  360.00 
  CONSTRAINT::  torsion_A:   90.00   5.00  50.00  180.00  
  CONSTRAINT::  torsion_B:  180.00  15.00   0.00  120.00  
  CONSTRAINT:: torsion_AB:    0.00   0.00   0.00  180.00 

 

The constraint  records  identify  the distance and angles of  the  residues' atoms  to be used. This  is  the 

actual value and strength of the constraint applied between the two residues. A quick glance shows that 

the line begins with CONSTRAINT:: followed by a designation of A or B whether its a distance or angle. 

The designation of A or B refers to residue 1 for A and residue for B.  

The distanceAB refers to a distance constraint between residue 1, atom 1 and residue 2, atom 2. After 

the distanceAB comes four numbers. For the distanceAB case, the four numbers are 3.50   0.20  50.00  0. 

The first number 3.50 specifies the optimum distance between residue1, atom 1 and residue 2, atom 1. 

Tolerance for the given distance (our example 3.50) is defined in the second column. The number 0.20 

identifies the "distance" that we can move from our 3.50 goal. During the design process that means we 

can move 3.3 or 3.8 away  from  the optimal distance. The  fourth number, 50.00  is  the  "force" of our 

constraint.  This  basically means  how  often  do  you  allow  breaking  of  our  constraint.  The  higher  the 

number  in  this  column means  that models will not be output  if  the  constraint  is broken. There  is an 

equation  associated with  this  column.  If  x  is  the  actual distance  (during  enzdes  run),  x0  the optimal 

distance (defined in constraints) and k = value in 3rd column (force constant, parameter for strength of 

the constraint) then the score penalty applied will be: 0 if |x ‐ x0| < xtol and k * ( |x ‐ x0| ‐ xtol )^2 else. 

This  is, of course, an optimization problem. You will probably have to play around with this number to 

get  it to work. The  last number can either be 1 or 0, where 1 means covalent  interaction and 0 means 

non‐covalent interaction for the interacting atoms.  

The second constraint that can be defined are the angle constraints. These are defined by the angle_A 

or angle_B  constraint. angle_A  refers  to  the angle between Res1:Atom2  ‐ Res1:Atom1  ‐ Res2:Atom1. 

angle_b refers to the angle Res1:Atom1 ‐ Res2:Atom1 ‐ Res2:Atom2. Similar to the distanceAB, there are 
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The description of each section is explained in the following table.  

symbol constraint flag 

d   distanceAB  

theta1  angle_A  

theta2  angle_B  

chi1   torsion_A  

chi2   torsion_B  

chi3   torsion_AB  

 

 

 

There is an additional step that is needed to finish everything for the constraints file. The scaffold to be 

used by your constraints file needs to be edited.  In case there  is not a scaffold chosen, please  look at 

how to run RosettaMatch. The input pdb is edited to contain the following line (at the top):  

REMARK 0 BONE TEMPLATE X D2N 900 MATCH MOTIF A HIS 37 1  

From the above line, the REMARK line indicates that this is the start of the constraint information. Your 

pdb must  be  cleaned  prior  to  this  process with  all  REMARK  lines  removed  except  for  this  line  (use 

/sb/scripts/get_pdb_new.py  to  clean  your  pdb).  Ignore  the  0  BONE  and  line  for  now...this  will  be 

discussed in a little.  

The TEMPLATE X D2N 900 words are used to describe the  ligand. The word TEMPLATE tells Rosetta to 

start taking information. The X D2N 900 has to match the chain id, ligand name, and residue number of 

the ligand.  

For now, ignore the MATCH MOTIF words. This will be discussed at the end of the section.  

The A HIS 37 1 refers to the catalytic residue. The A HIS 37  is the chain  id, residue name, and residue 

number  in  the  pdb  for  the  catalytic  residue.  The  last  column  1  refers  to  the  first  block  of  catalytic 

constraints. Remember, in our example above we had two blocks of catalytic constraints. You can have 

multiple REMARK  lines that refer to all the blocks  in your constraints file. The reason for declaring the 

constraints and the exact residues to constrain  in two different places  is the following:  it allows to use 

the same .cstfile for any number of matches that have the same type of active site but are in different 

scaffolds or at different attachment points in the same scaffold.  
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1. Open LG1.mol into pymol and save as LG1.pdb  

2. Calculate center of pi ring from two opposing ring atoms  

3. Add a virtual atom (X) to the pdb file with these coordinates  

4. Assure that the chainID is X and the residue name is LG1  

5. Open pdb file and save  it again as mol file. Conversion back to mol file does not work 

with moe as it can not handle virtual atoms! Use pymol instead.  

Convert your ligand into a parameter file. 

Now there are three things to do with the protein pdb file:  

1. Mutate the residues needed for the reaction (E101, K222, W50). This can be done with pymol‐

>Wizard‐>Mutagenesis. Done worry  about which  rotamer  to  select, Rosetta will  take  care of 

that.  

2. Append  a  ligand  conformer  taken  from  LG1_confs.pdb  as  starting position  for  the  algorithm. 

Depending on  the  relative position of protein and  ligand  you might have  to move  the  ligand 

closer to the active site of the protein because otherwise there won't be any residues within the 

distance cutoffs (see flags section below). You can use pymol to do this, although there certainly 

are several better ways to tackle this task.  

3. Add  REMARK  statements  for  the  constraints  at  the  top  of  the  file.  Here  we  have  three 

statements,  one  for  E101,  one  for  W50  and  one  for  K222. 

REMARK  0  BONE  TEMPLATE  X  LG1  1  MATCH  MOTIF  D  GLU  101  1  

REMARK  0  BONE  TEMPLATE  X  LG1  1  MATCH  MOTIF  D  TRP  50  2  

REMARK  0  BONE  TEMPLATE  X  LG1  1  MATCH  MOTIF  D  LYS  222  3  

These statements correspond to  the constraints  in  the kemp.cst  file  that we will set up  in the 

next step.  

So, in order to create a constraints file the first thing is to determine what angles/lengths to use for our 

constraints of amino acids. To find these, we would have to use quantum mechanics. Fortunately for us, 

the distances are listed in the supplementary paper. Also, there is a paper about the Kemp reaction that 

used quantum mechanics that you could take the values from (J. Am. Chem. Soc. 1996, 118, 6462‐6471). 

We will use  the  constraints  listed  in  the  selection of  tables  from  the Kemp elimination paper below. 

Unfortunately the tables do not provide all the information needed to set up the constraints. So we will 

just give  it a  try and make up something  from what we get  from  the Kemp elimination and  from  the 

example  cst  file  that  comes  along  with  Rosetta 

(mini/test/integration/tests/enzdes/inputs/Est_ha_d2n.cst):  
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  CONSTRAINT::  distanceAB:  2.93   0.2 100.0 1 

  CONSTRAINT::     angle_A: 127.6  10.0 100.0 360.0 

  CONSTRAINT::     angle_B: 120.0  10.0  50.0 360.0 

  CONSTRAINT::   torsion_A: 180.0  10.0  50.0 360.0 

  CONSTRAINT::   torsion_B: 180.0 180.0  25.0 360.0 

  CONSTRAINT::  torsion_AB:   0.0   0.0   0.0 180.0 

 

CST::END 

 Block 2  

#block 2 for pi stacking 

 

CST::BEGIN 

#ligand 

  TEMPLATE:: ATOM_MAP: 1 atom_name: X1 C7 C1 

  TEMPLATE:: ATOM_MAP: 1 residue3: LG1 

   

#protein 

  TEMPLATE:: ATOM_MAP: 2 atom_type: aroC, 

  TEMPLATE:: ATOM_MAP: 2 residue1: WFY 

   

   

  CONSTRAINT::  distanceAB:   4.0   0.2   50.0  0 

  CONSTRAINT::     angle_A:  90.0   5.0   50.0  360.0 

  CONSTRAINT::     angle_B:  90.0   5.0   50.0  360.0 



  CONSTRAINT::   torsion_A:  90.0   5.0   50.0  180.0 

  CONSTRAINT::   torsion_B:  90.0  15.0    0.0  360.0 

  CONSTRAINT::  torsion_AB:   0.0   0.0    0.0  60.0 

 

CST::END 

 Block 3  

#block 3 for hydrogen bond 

 

CST::BEGIN 

#ligand 

  TEMPLATE:: ATOM_MAP: 1 atom_name: O3 N2 C6  

  TEMPLATE:: ATOM_MAP: 1 residue3: LG1 

   

#protein 

  TEMPLATE:: ATOM_MAP: 2 atom_type: Nlys 

  TEMPLATE:: ATOM_MAP: 2 residue1: K 

   

   

  CONSTRAINT::  distanceAB:  2.98   0.2  100.0 0 

  CONSTRAINT::     angle_A: 103.7  10.0  100.0 360.0 

  CONSTRAINT::     angle_B: 113.0  10.0   50.0 360.0 

  CONSTRAINT::   torsion_A: 180.0  10.0   50.0 360.0 

  CONSTRAINT::   torsion_B: 180.0 120.0   25.0 360.0 

  CONSTRAINT::  torsion_AB:   0.0   0.0    0.0 15.0 

 



CST::END 

 

The final preparation step  is to set up a flags file (flags). In this tutorial we simply use the one given  in 

RosettaMini mini/test/integration/tests/enzdes/flags that you can also find 

‐s ./1thf.pdb 

‐extra_res_fa ./LG.params 

‐enzdes:detect_design_interface 

‐enzdes:cut1 6.0 

‐enzdes:cut2 8.0 

‐enzdes:cut3 10.0 

‐enzdes:cut4 12.0 

‐enzdes:cst_opt 

‐enzdes:cst_design 

‐enzdes:cst_min 

‐enzdes:cstfile ./kemp.cst 

‐enzdes:bb_min 

‐enzdes:chi_min 

‐enzdes:final_repack_without_ligand 

‐out:file:o enz_score.out 

‐unboundrot ./1thf.pdb 

‐mute core.io.database  

If you want to learn more about EnzDes flags, check out the RosettaCommons site.  

So now that everything is prepared we can start an EnzDes run. This is done by calling:  

mini/bin/enzyme_design.linuxgccrelease @flags  ‐database minirosetta_database/  ‐run:constant_seed  ‐

nodelay  

where minirosetta_database represents the full path to a minirosetta_database. 


